1 | The chemical composition of salt is

@ TNeCl ® o
(C) | H0 (D) e .

2 | Number of bones in an adult humanbodyis .
LEES ® 206 =
B ——— 0 214 gy -

3 | 4 pumps, workmg 8 hours a day, can empty a tank in 3 days. How many hours a day
must 6 pumps work to empty the tank in 1 day?

A 10 7 S
e - e N
4 | Which of the following is used inpencils? L L o
= (A) | graphite (B) cafbon s
(C) | charcoal (D) silicon N |
5 S e v TR STt e et e all &
A (A) | butter ol - [(B) |paneer v .
(C) | ail (D) curd -
6 | Cumecis a unit of _ : .
(A) | Velocity (B) [ acceleration
(C) | flow rate (D) volume B

7 | Value of gravitational acceleration ‘g’ i

w

(A) |9.81 m/sec (B) 981 misec? .
(C) | 981 misec (D) 9.81 m/sec® o |

"8 [“Light year is a unit of P
5 - R
e g oy _ |
- 9 | Volume is measuredin_ RSy 2020
(A) | c.c. (B) oy liters }
© [m* (D) |Alloftheabove ]
10 | The gas usually filled in the electr:c bulb is g = - e |
@ nivogen R — .
(C) | Carbon dioxide (D) methane |
11| Yeast is used in the production of § = ST
(A) | Oxygen (B) sugar - i
(C) | Alcohol  © (D) | Hydrochloric acid e |
12 | Itis easierto swim in sea water then in river water because -
—~ | (A) | Seawater is denser (B) Sea water has large quarmty = |
i (C). | Sea water has large depth (D) | Sea water has waves =i !
13 | Study of science of earthquake is known as ; ,
B (A) | seismology (B) astrology = . "
' (C) | geology (D) paleontology 5
14" Itwas Sunday on Feb 16, 2014. What was the day of on Mar 23, 20147 ' |

(A) bl RIE T )
| L\ —\—Sma_t"ﬁrday o O
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15 |
A

Complete the series: AEF, BGH, ClJ, DKL, EMN,

@ [FRS __[® |ePa |
| (C) | FOP (D) [HOP .
| _15_‘ Sound waves cannot travelin _____ . |
| (A) | Gas [ (B) | Vvacuum
| (C) | Solid | (D) | Liquid
17 Speed of sound wave in airis __ "l Bl ™ e g
TURE T iR __(B)___ o ¥ N
(C) | 1236 kmihr (D) | Allof above
18 | At what temperature are Cels;us and Farenheit havmgmfhe" eeme value? b
WZ\G i T(B) ST
© :f) = a | o T R
19 | Find out odd man out e e E \dV 4
e T o } e [ |
___[ey [w RPN i ' N |
20 | Cupisto coffee as bowi is to |
T . B ‘ e . o & = - :
| ©) seoon ________________________________________ o) Taih - —
721 [ A man travels first half of the journey at the speed of 40 km/hr and secend half at the |
speed of 60 km/hr, the average speed during journey in Km/hr is. |
(TR i & 148 | _
. L_LE}___: ?0_ _ . _1'(_D)' _l__ 54 N -
The compound interest on Rs. 20,000 at 10% per “annum'is Rs. 4200. The period (in
years) is:
| -_('?f_) —d _2 ............................... .. (_BL = 3 ==
(©) 4 (D) %, 5 |
23 | 'I_'Ee_dlfference of the squares of tvrremconse;":_utwe odd mtegers is always lelSlble by ‘
o |5 : "'(B |6 ___________ . |
LS ® |9 |
; 24 | Two taps A and B can fill a water tank in 20 and 30 minutes respectively. If both the ,
taps are used together, then how long will it take to fill the water tank? |
: @ | e =5 (B) e o S
i (C) | 26 r_n]n_ T | 25 mln ST |
| 25 | The sum of all the interior angles of a h&a@:fn_l; """"""""""
| TR | N e 1 B | e —ctn ‘
__[© |7ae" D) 900" e
| 28 Average age of group of 20 glrls and 15 boys are 11 years If average age of boys are |
15 years, then average age of girls are !
™ hes ﬁé}_s___ SeLS . 10 e el LT - |
| (C), | 8years T 6 years 3
i"ql?f: I + 10x + 2'5 O then x = - _ " i
| w s N E |
L R ® 3 ]
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required to fill the same tank if the capacity of the bucket is reduced to 80% of its

28 | A man walks 8 km towards north, he turns towards east and walks 6 km. then he
straight returns to his starting point. Total distance man walked is '
(A) | 10km ® [14km R
N AR 5 e SESL
29 | Ifxis a digit of the number 65x4, such that this number is divisible by 9, then X =
T R e ol g S il
S T
30 | 0.005+7?=0.01 T STy g IS N
(A) | 0.0005 o [ o005 N _— .
T 056 — ———15) rﬁo __________
31 | The price of 12 chairs is equal to that of 5 tables The pnce “of 8 chairs and 3 tables
together is Rs. 5700. The total price of 9 chairs and 6 tables is
(A) | 6075 [(B) 7775 .
N B = o A 9
32 | Complete the series: 20, 30, 42,56, 72, ____ P b
CE & i e Y M W
© [0 O 95 N N |
33 | Attime 4.00, the angle between minute hand and hour hand is. - |
(A) |90° (B) 105° '
(C) |120° (D) 135° _
34 | Excluding stoppages, the speed of a bus is 54 kmph and including stoppages, it is 45
kmph. For how many minutes does the bus stop per hour?
(A)_[9 (8) 11 =Vl
ORER ©) e
35 | The ratio of area to perimeter of a circle having radius R is B
— | [R BN R i e
S T20%R — | (D O_m ........................ = i
36 | The sum of even numbers batfeoRi aNEPI01 is
i padtil . (B Jas0 e
(C) | 2500 (D) 2550 |
37 | The average of ages of 5 children born at the intervals of 2.5 years each is 10 years. |
What is the age of thga youngest child?
T T3E ®) v pa— = . =
o T5E ©) R -
38 | Which of the following is a prime number ?
- I T8 5 e I
: (C) |97 (D) |91 : o
39 | Tofill a tank, 40 buckets of water is required. How many buckets of water will be

present ? e ‘
(&) |50 @[55 = T
(C) 60 | (D) 165 .............. e, !
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0 | in 100 m race. A covers the distance in 36 seconds and B in 45 seconds. In this race A
beats B by
A [18m (B [20m
(B e (@) [25m
41 | Who was s the first Indlan to wm an Oscar Award’?
(A) |ARRahman ' (B) | Amitabh Bachhan
| T T i "“Figjééh_}_{hanna = THTTN— n
5K B s L) - I Rgesn BB
e L TR offcer _______________ @ S s —
| e FitweranFS ot SN e —
" 43 | Who among the following wasmh_ﬁ')'tﬂfﬁéﬁfl'ﬁllbﬁlimster of Finance of'"iﬁd'i'a'? e o
: @ TP R @) e —
= r_('(5*)— Manmohaﬁgiﬁgh ]_(D) F’VNarasnmha_Rao o ) . 7
'~ 44 | Rajkot city is on the banks of"\_:{é'hngh"'ﬁiréﬁ """"""""""""""""""" i |
< [(A) | River Narma"dam (B) ~ | River Tapi 1
(C) | River Aji (D) | River Sabarmati n % |
{5 | Who was the first sc1enttst who got BHARAT RATNK5 i -
“(A) [CV.Raman (B) I Chandrashekhar .
| J(_C)—_ e BT e & © W |
46 | Somna \ath Temple is located on the _ e " coastof Gujarat. - !
K A TN T i l(BS__lsm_em ______ __,:___ A =
__[(© [Eastem @) [westem .
47 | What does the "BLACK FLAG' 51gn|fy'? _
| L T e i
(©) | Protest () 7 Peace |
"48 | Which of the following is a skin infected disease? Sl
(A) e "N R e
I (C) |Ringworm @ N one of these
5 T Foaderes UG T ()
| (A) [ New York ) 1(B) Geneva -
| (C) | London " (D) | Paris
50 | Which was the first capital of Gujarat'? e R T P &
1_@)_,_| Tedr +— VT o T L |
(C) | Gandhmagar (D) Vadodara
51 Boighion Gups asPoed wih which sport? St |
A | (A) | Cricket ' (B) | Snooker '
Il e - __: Hockey _____________________________________________ sl
52 |"f33rammpan| Sanctuaﬁ}mihs located at ___ ' ll
& Junagad'h e . (B) = Dlphu e
_(E:)_ _____ Koh1ma NIE;Q_a]‘E-I;'I_d_- N L T Géwr_]g_tﬁk '“S“i'kki'rﬁ ____________________ pu
__________ el

uG/vSs/C

"'"| Who is the founder of WiKIPED!A‘?

l (A) [ (B)

(©)

Bhaskaracharya h
Aryabhatta

A |LayPage (B
'(C) [ Mark Zukenberg® 1)
6]

Who was the founder of "Advaltlc Phtlosophy”?

|Shankaracharya_ e



55 | Coral Reefs in India can be found at
(A) | The Coast of Odisha (B) Waltair -
(C) | Dwarka (D) Rameshwaram |
BBl T T e i—— ]
' (A) | Nickel ' (B) | Aluminum LS
(©) |Znc (D) Lead
- 57 | Who among of the following is the first Indian cricketer who played for England?
TA) T Diip Singh B | RejiSigh el by S
(C) | Lala Amarnath (D) C.K.Nayudu
58 | Who is the first Olympic Athlete from India to win an Olympic medal? S i
(A) | Norman Pritchard (B) Vishwanathan Anand N &Y . ) |
(C) | Milkha Singh (D) | Vijender Singh ) &
59 | Who is the first cricketer to be awarded with BHARAT RATNA?
< | (A) | Sachin Tendulkar (B) Kapil Dev 5
o T AR - e s . NN
60 | What is the capital of Afghanistan? ' R
“"1(A) | Dhaka (B) Kabul !
| R - b b_ ____________________________
| 61 | Choose the option which best expresses the meaning of the given word. VEXATION
(A) | Calm (B) Annoyance i
| (C) | Repentance (D) Delicate
_____ 62 | Identify the suitable one word substitute for: "To slur"
(A) | compliance (B) assaulted
""" (C) | blame (D) retaliate
63 | Choose the option which best expresses the meaning of the given word.
MELANCHOLY
’ (A) | With great importance ' (B)  [Veryordinay
- 1 (C) | Verysad (D) | Veryinteresting
"""""" 64 | Identify the figure of speech for "More beautiful and soft than moth" e
(A) | onomatopoeia (B) personification D
| (C) | repetition (D) aliteraton
' 65 | His opinion also binds both. . 0 ¥
(A) | You ® [we .
s | B ey
66 _sehanged 20000 T/
— [ a2l o8 i — S R,
(C) | Some (D) | Everything — Ty
67 | Identify the most suitable one word substitute for: "out of proportion”
(A) | authentic [ (B) essence —
__(€) | exaggerated I (D) entails TS
§§ Identify the suitable one word substitute for: "One who looks for only dark side”
‘ (A) | Philanthropist (B) Pessimist
| (C) | Somnambulist (D) [ Mysogynist
&
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D | Ident:fy the correct spelt word among the' followmg

62 The word "LOOK" is used in four different sentences. Select the sentence in which the

¢ | wordi is not used properly. —EY SO AP SUPRE |
(A)  Looks don't matter in any 1 (B) I He looked after his pen.
| terms. | ‘

I_(C) | She is the one who looks | (D) ’ He wondered about how it looked. |
 fabulous. = | :

' (A) reserviour | ( reservoir
. I _____ N ‘ e S [ ..... ( _D) ______ |" o N
. 71 | You will find a set of letters with a number below each letter followed by four choices of -
| arrangement of numbers to make the word. Choose the correct arrangement.
| OTNSAIALG
123 466788 ‘
A 164837528 gy, (@ | 14e%Eames , 0 [
_ [(©) [ 314258967 nogrpiag | (D) | 357216848 p )
72 | You will find a set of letters with a number below each letter followed by four choices of |
! arrangement of numbers to make a meaningful word. Choose the correct arrangement. |
lS UAS QHY
| |12 34887 ., - ; |
| (A) | 4327615 (B) | 1523467
! o "35316?_1' _______________ ) © | FEEerr b . 3
‘ ZS Identlfy the correct spelt word among th_e fol[owmg options. LS ) '
(&) Mischievos (B) | Mischevous
! (C) ' Mischievous R "!\_/"I'i_sfzﬁiéﬁ'ﬁ y
74 Choose the correct option from these which one is not a Flgure of Speech
- [Epigam  [(B) | Climax
| () Euphemism [B)  Pun il
- J5 | Which is grammatically wrong among the given sentences?
| (A) | AEnglish book [(B) "] A good book
‘ _ (Cj """"" | Ausefulbook ! (D)_ A beautiful giri =
| 76 | Choose the correct altefnative which is oppos:te in meanlng to the ¢ glven “word.
UNCOUTH
U Bl "'(B') 4 —
| (C) CNillzed 0 Confr_a'c]"l'éilon R =
| 7 Choose the optlon which is élternatwe to the meahlbg to the g:ven word.
COUNTEREEIT
A Cithr visuonary TE Genume o= RS el |
o ) | e —([5) | g s B

.78 the spirits were always invisible to Miranda, Propero did not choose that
she should hear him holding conversation with the empty air.

(A) | Because (B) | Although =
_(ETW e —E o P —— -
79 | Choose the option which best expressé"é“ih'é""rﬁé'éﬁiﬁ@"Ef"'fﬁé"gjivéri”'i}v&d """""""""" " |:
BEWITCH]NG
(A) |Assess | (B) | Evaluate O |
(C) I Enchantlng (D) Love!y B i
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80 | It not surprise you if you were eyed coldly by the conductor.
(A) | Should (B) Shall D
(©) | Wil (D) Would [
81 | In MS-WORD, pressing Enter key
e (A) | Starts a New Line (B) | Starts a New Paragraph
(C) | Inserts a Blank Line O |1 None of the above e }
82 | The alignment of the cell in a Excel document can be done by e
(A) | File Menu - (B) | Format Menu R
e TR : e T T _I
83 | Which is the normal view in Power Point? ,_
/(@ [side ~ [(® [ Side Sorter =
' (C) | Normal (D) Outline R W 4
84 | Hard copy is a term used to describe...?
(A) | Writing on Hard Board (B) Printed Output g
(C) SFonng information on Hard (D) Writing on CD
Disk
85 | The page setup can be used to set e 4
/ | (A) | Margins (B) Pay layout
(C) | BothAandB (D) None of these ]
86 | The default file name in Excel is 7 i
(A) | Book : | (B) File 1. :
(C) | Sheet1 (D) Book 1
87 | To check the spelling in current presentation, press o
~ [(A) |Fa B ¢ I .
€ [F1i i Uil B
88 | The amount of data that a disk may contain is known as the disk’s.......
o LA Volume B | Size —
| (C) | Storage Capacity . (D) None of these
89 | In MS-WORD by Mail Merge option we can create o
| % [{AY | | Letters | (B) Labels = .
' (C) |BothAand B (D) None of the above > ‘
90 | We can change Header and Footer by ....... Menu in MS Excel. o=
(A) | Home (B) Page Layout
1 (C) | Design % (D) Mailings i
91 | Which key c@mbih_atidn is used to insert new Slide in Power Point?
T [(A) [Ctl&N () |Ctrl+S B
(C) |cCtri+M (D) | Ctrl + O
92 | CD-ROM stands for N
g (A) =P S L (B) Compact Data Read Only Memory
(C) Compactable Disk Read Only | (D) ‘ Compact Disk Read Only Memory
Memery | | e ]
93 | In MS-WORD, Shift + Ctrl + P is assigned for
(A) | Print (B) Font Formatting N
(C) | Print Preview (D) None of the above N b
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{ &3 in MS Excel, rows are Iabeied as

W [1284.. (B [ABCD. -
- |(E)) III 11, IV 1O labc:d
l 95 e 18 is the ‘easiest and the fastest way _to prepare presentatlon_
< (A I Design Tempiate | (B) | Place Holder
:| I(C} Xu_tci_l_a_yout | o ‘W&HE o?"{'ﬁéuabodé __________________
96 | The term gigabyte: refersto
: : (A)_ e bytes =T ‘ s kl!obytes _________________________ -
| (C) 1024 megabytes (D) | 1024 terabytes
97 |[Thesauuscanbeusedfor
(A) | Finding Synonyms and (B) | List of related words and different
! Antonyms i ‘_fo_rms of the selected word |
| ‘ To add precision and variety | (D) | Al o thie BEve
of your wntlng
.' _Qg | To dlsplay current date in MS Excel ..... coﬁ{r‘ﬁlénd is used. A
, | |=Today( ((B) | =Sum() & "0
(C) , — Date () ] o - Tim§ IIIII ( ) _______ v 8 & 43

|

!

99 [Iif you want an object to appear on every slide, put it on .
|

(A) | Slide View '(B) | Slide Mas'iér """ -
() | Side Sorter view (D) | Alloftheabove |~ <
' 100 | The smaliest possible un}t ofdata is
I 1 - N 7. D ,

. [© [Wod [(p |Line
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